X-ACTRON

 

Turn power on





Remove all weight from the platform.





Remove deadload offsets by operation an appropriate positions. Of the coarse ZERO dip switch (SW2, position 4 through 7). Start with the maximum effect (position 4). Turn the switch position ON; if it causes the display to indicate a negative gross value, return to OFF, otherwise, leave it ON. Continue to perform the same operation with positions 5,6 and 7. The 16-switch combination will remove from 0 to 28.2 mv from the analog signal.





Adjust medium zero potentiometer R2 for a zero display with fine zero potentiometer (front panel) in mid position.





Place the calibrating weight on the load cells system.


This should be as near to the full-scale value as possible. Check to see that the calibrating weight is in the weight units (kg or lb) for which the set up switch has been selected.





Place the switches of SW-3 (medium span) in the ON position for minimum contribution.





Jumper E8 to E7 for the high gains operation and observe the display. If it indicates a value greater than the calibrating weight (or an overload indication if the weight is greater than full scale.) than the jumper should be changed and connect terminal E8 and E9. If not then leave in the E8 to E7 connections.





Starting with position 1 of SW-3, select the OFF operation and check the display. If the change causes the display value to exceed the calibration weight, return that position to its previous status. Proceed with each switch position in turn. A total of 64 possible combinations of the switch positions for medium span is possible.





Adjust fine span potentiometer R17 until the display reads the calibrated weight value.





Fin








